
División (D)
Calcule los cocientes siguientes.

0
3R565

697)2656
2R797

852)2501
5R83

895)4558
15R2

332)4982

22R291
361)8233

12R177
744)9105

8R567
689)6079

2R256
465)1186

14R25
279)3931

5R426
834)4596

2R266
717)1700

3R29
971)2942

21R261
353)7674

16R8
464)7432

18R323
424)7955

25R22
366)9172

47R145
204)9733

32R31
200)6431

9R85
782)7123

6R399
932)5991

15R257
546)8447

21R154
413)8827

13R494
618)8528

11R476
784)9100

2R518
947)2412

8R370
454)4002

7R157
419)3090

3R180
435)1485

11R393
543)6366

3R49
753)2308

1R661
838)1499

4R218
342)1586
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División (D) Respuestas
Calcule los cocientes siguientes.

0
3R565

697)2656
2R797

852)2501
5R83

895)4558
15R2

332)4982

22R291
361)8233

12R177
744)9105

8R567
689)6079

2R256
465)1186

14R25
279)3931

5R426
834)4596

2R266
717)1700

3R29
971)2942

21R261
353)7674

16R8
464)7432

18R323
424)7955

25R22
366)9172

47R145
204)9733

32R31
200)6431

9R85
782)7123

6R399
932)5991

15R257
546)8447

21R154
413)8827

13R494
618)8528

11R476
784)9100

2R518
947)2412

8R370
454)4002

7R157
419)3090

3R180
435)1485

11R393
543)6366

3R49
753)2308

1R661
838)1499

4R218
342)1586
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